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General Instructions :
(i)  The question paper has 30 questions in all. All questions are compulsory.
(i) Marks are indicated against each question.
(i) Questions from serial number 1 to 8 are very short answer type questions. Each
question carries one mark.
(iv) Questions from serial number 9 to 21 are 3 marks questions. Answer of these
questions should not exceed 80 words each.
(v)  Questions from serial number 22 to 29 are 5 marks questions. Answer of these
questions should not exceed 120 words each.
(vi) Question number 30 is map question of 3 marks from Geography. After
completion, attach the map inside your answer book,
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Name the Italian who re-interpreted the message of Bible ? 11e-=
AeET/ OR
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Who was the writer of the novel "Hard Times’ ?

rd %@rmﬁ@?ﬁﬁa@ﬁgﬁaﬁmwa’rﬁﬁé? ' 1

& What term does describe the system of agriculture where a single crop is grown on a large
area. NE

} ' mm'amaﬁmm%memmﬁm. 1

Mention the racial similarity between Tommie Smith and John Carlos.

}/ M % i I o T w e i e d s '
Much of the official work in Indian States is done in which language ?

Which type of policy was constitutionally adopted by the Government of Belgium to honour
the diversities ? ' '
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Mention any one development goals of land less rural labourers, '

V et 2 % for & st o 39 g w2 1
How does public sector help in the development of a country?

/ mmﬂﬁmwwwmﬁww%? T FHR S ) 1
Why is average income considered as an important  criterion  for :

development ? Give one reason,

w
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Explain with the help of any three suitable examples that the pre - modern world changed
with the discovery of new sea routes to America.
37eTa7/ OR
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Analyse the contribution of Dwarkanath Tagore in the field industrial development.

379ET/ OR
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Critically examine the impacts of London Underground Railway. e

w
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The silk routes are a good example of trade and cultural link between distant parts of the
world. Explain with examples,
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10b S G H Rt g R A R T R A amemed @ v wfe 3

Describe any three problems faced by the Indian cotton weavers in the
19% century ?

s19aT/ OR
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Why did the population of London expand from the middle of the eighteenth century ? Give
any threereasons. ' ... . .

,171'3' W TR B o1 w1 i g R @ aoh #if ' 3
Describe the various publishing practices of visual material in Japan.
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‘Novels created a sense of social awareness in India'. Support the statement with suitable
examples.

)zé e 4 594 . | g1 Y e eelt awlE 69 HR G €8 ? e s 3

Page3of 7

Downloaded from http://jsuniltutorial.weebly.com/ Page no. 3



JSUNIL TUTORIAL

How was the earliest printing technique developed in Asia from AD 594 onwards ? Explain.
S9aT/ OR
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Analyse the history of novels of South India.

What is resource plannmkg‘? Why is it essential ? Explain any two reasons,

/Wﬁﬁmwﬁ?%ﬁ%ﬁ%?ﬂiﬁmmmﬁm 3

In which year was the ‘Indian Wildlife Protection Act’ implemented in India ? Describe the
main thrust area of this Programme,
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"It is essential to conserve and manage our water resources" Sy rt the statement with
b4 Ppo
suitable examples.
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Why is power sharing good for democracy? Give your view point.
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What action was taken by International Olympic Association against each of the three
Olympians, Carlos, Smith and Norman Peter? -° :

ﬂﬁﬂwﬁﬁaﬂtﬁmﬁaﬁaﬁﬁ%ﬁaﬁh@m#mﬁwﬁhl 5
Explain the causes of tension that existed between Dutch and French speaking people in

m

1/
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Compare the employment conditions of organized SE&OI_‘EVI;!’.['L unorganised sector.

2 “Wﬁa%ﬂﬁ'aﬁﬁmmmm%"wmmmﬂm ? '
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‘Workers are exploited in the unorganised sector.” Do you i
X : agree with the sta T i
your answer giving valid reasons. b S N

22a 1ga?naﬁﬁ%w¢?mmﬁiﬁm¢raéﬁﬁwﬁm ElEiEC
YZ-9T 917 U1 i > 2 Hwr [ i 5

'Britain self-sufficiency in food meant lower livin, ' i
] ) g standards and social conflict in ni -
century'. Why was this so ? Give reasons. i

9/ OR

22b- wamwm%wﬁmmmwm. . - s

Analyze any three positive effects of industrialization on workers.

roET/ OR

22/19éfnﬂﬁw%mmﬁﬂﬁ%mﬁﬁm%ﬁﬁﬁﬁﬂﬁﬁfﬁwaﬂﬁm % 15
Explain any five sources of entertainment for the common people of London in the nineteenth '

century.

232, AERH TE I T Gl & ST | g @ @ wasde i a2 TFHROT T FfT | 5
Why were many people apprehensive to the newly printed books entering into the market?
Explain the reasons.

319r/ET/ OR
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Explain the contribution of Devaki Nandan Khatri in Hindi novel writings.

2}/ Wi & el St ¥ fory savas: e A diifers el # e i) wH avi A &9 Y s
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Explain any three geographical conditions required for the growth of rice in India. How is it
possible to grow rice in areas of less rainfall ? Explain with examples,

Page 5 of 7

Downloaded from http://jsuniltutorial.weebly.com/ Page no. 5



JSUNIL TUTORIAL

25 wra 3 = oW % fo s R ofs el W e Wit 5
Explain any five causes accountable for the depletion of forests in India,

y " T T e welta sreen ¥ vew sEd W 9O ain T @ o e % w=d @5
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|
"Holding Together Federations do not give equal power to its constituent units'. Explain the |
statement with the help of examples in context to India. !

|
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HAE? ’

: It is inevitable to ignore the relationship between politics and religion. In what way does this |
relationship impact modern day politics ? Explain.

"ol 3w ge ¥ fou shved wga seEnd g m%maﬁ@aﬁ'%i”sﬁﬁsﬁﬁﬁ'm;'s
9 ey | 5 '

'Although averages are useful for comparing countries, they also hide disparities”. Explain |
the meaning of this staterent. !

\E
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How far is it correct to say that several services which cannot be provided by private sector
can be provided by the public sector ? Explain.

@) mmm%wﬂﬁmmmﬁaﬁA'ﬁiwamﬁ%ﬁ%ﬁw%i‘-ﬁ%'&’rnﬁjs
4 ST 3 STMR T §9 T80T H TesT At § 6 fafia Y w sew A fafan i
(A) R % U YE IS U
(b) 3 AR W Fefatad ®1 s 956 g anie v w9 e fofea |
(B)  weta g1 A 4%
(© e R iy
e Frafafe W Fae giteanfua whenfo & fm g
(30.1) wedE T A T F AW farew )
(30.2) & % fRet U woE T w1 AW fafay)
©(30.3) FW T W |y w1 A fefag

One feature A is shown in the given political outline map of India. Identify this
. feature with the help of following information and write its correct name on the line f
marked on the map ; |

£ E?/ A State which is the major producer of Rice - |

Page 6 of 7 [b)/ n the same political outline map of India, locate and label the following features with
appropriate symbols : ]

Area of mountainous soil [

Nagarjuna Sagar Dam |
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